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301 LA F 28,000 0 28,000
12 JIEtE& = 28,000 0 28,000
Og&Ez std szl 28,000
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ol eSS XS 1,440,000 1,740,000 A 300,000
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Ox--1 284,806,750 43| 1,139,227
= 488,241
= 650,986
O&l&td & 6,500,000 *43| 26,000
== 11,000
= 15,000
CECoHE XS 105,000 905,000 A 800,000
308 MXISHMSOIA 105,000 105,000 0
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307 glz2tol & 423,360 403,560 19,800
= 211,680
< 84,672
s 127,008
10 ALl SXAIEEE2EH EX 423,360 403,560 19,800
OXdotsHdE 2L (7HA) 423,360
= 211,680
= 84,672
s 127,008
ANEotsdEe =298 X& 25,200 0 25,200
< 5,040
s 20,160
307 glz2tol & 25,200 0 25,200
< 5,040
i 20,160
10 ALSISXAIEEE2GHEX 25,200 0 25,200
OXgotsHH For2gl 25,200
< 5,040
s 20,160
ANSGotsdHd SE4s =278 29 2,600 10,000 AT,400
307 21201 A 2,600 10,000 AT,400
11T AL SXAIEE = 2,600 10,000 AT,400
OSst Z208 224l X (7H) 2,600
NEOtsdEH AHIAXE ALY 14,640 0 14,640
101 @14 Hl 14,640 0 14,640
04 JIZHHZ22XREES 14,640 0 14,640
OXYots e A2 AL A8 (2E)
610,000& x2H 1204 & 14,640
NG 0tsdEHX 17,388 17,388 0
= 8,694
< 3,478
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307 gl2tol & 17,388 17,388 0
= 8,694
< 3,478
s 5,216
10 AL SXNAIEEE2EH EX 17,388 17,388 0
O2=XYotsHE X2 (7H2A) 17,388
= 8,694
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s 5,216
ANE0tsdH it 9,100 9,500 A 400
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e 6,370
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s 33,831
04 JIZHHZ2XREES 112,769 102,046 10,723
OO0tsS X WA Q1A (7F) 112,769
= 56,384
< 22,554
[ia 33,831
OtEL=EAE 29 387,176 368,750 18,426
307 21201 A 387,176 368,750 18,426
10 ALSISXAIEEE2FHEX 387,176 368,750 18,426
OOtsSAIE 2 (11L) 387,176
OtsL=EAE SAX = 18,200 20,800 A 2,600
= 5,460
= 12,740
307 2Iztol ™ 18,200 20,800 A 2,600
< 5,460
s 12,740
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